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PART A: A RETIREMENT PROBLEM
This question is similar to Problem 32 of Chapter 3. Solutions to Problem 32 can be found under “Course Documents/Module 2” on the Blackboard.

PART B: CASE STUDY
Readings: Chapters 5, 6, 7 and pp.478-481, Peirson et. al.

QUESTION 1 
This question does not involve any calculations. As noted on pp.478-481, Peirson et. al.,  one can take into account the riskiness of cash flows either using a certainty equivalent factor (α) or using a risk-adjusted discount rate (k). The certainty equivalent approach translates an uncertain cash flow into a certainty equivalent cash flow and then uses a risk-free rate to discount the certainty equivalent cash flows to calculate the NPV. The risk-adjusted discount rate approach does not make any adjustment to uncertain cash flows. It uses a higher required rate of return to discount uncertain cash flows in calculating the NPV. In this question, you are expected to comment on the arguments of John McPhee and Tony Hughes based on your understanding of project evaluation techniques in the context of uncertain cash flows. A basic understanding of the NPV technique would be adequate to understand pp.478-481 of Peirson et. al. 
QUESTION 2 
Step A: Calculate the NPV for each project using the certainty equivalent approach
First, determine initial cash outlay (C0), the annual net cash flow (Ct) and the after-tax terminal cash flow.
Note that the company tax is not applicable on the opportunity cost of an asset (land), and there is no need to impose tax on earnings since you have given after-tax earnings.
Second, find the coefficient of variation (CV) for the annual net cash flow each year (t). The CV is an indicator of risk (
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Similarly, the coefficient variation for the salvage value is the ratio of the standard deviation of the salvage value to the after-tax salvage value.
Third, identify the relevant certainty-equivalent factor for each calculated value of CV based on Exhibit 1 of the case study. The certainty-equivalent factors are given in Exhibit 1. You are not required to estimate it.

Fourth, calculate the certainty equivalent cash flows using equation 15.17: 
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This equation should be applied only to an uncertain cash flow, not to a certain cash flow.

Fifth, calculate the NPV for each project using the certainty equivalent approach. To perform this calculation you need the following inputs: cash outlay (C0), the certainty-equivalent annual cash flows (Ct), the terminal cash flows (including the certainty-equivalent after-tax salvage value), and an appropriate discount rate.
Step B: Calculate the NPV for each project using the risk-adjusted discount rate (RADR) approach
Now calculate the NPV using an appropriate RADR for each project. The RADR simply represents a discount rate (or the required rate of return, k), which takes into account the riskiness of the project (
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 RADR). Note that the RADR for each project is given in the case study. You are not required to calculate it.
Step C: 

Recommend a project and justify your recommendation.

QUESTION 3 
This question is self-explanatory. It does not involve any quantitative analysis. You should focus on the factors, which have not been taken into account in answering question 2.
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